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Z. FREBE{HER (B/E 59, # 350, BEEAEBE)

I BRI Q = 10/p® MBI B ?

2. RESETEE 60 WIHREE X 8 Y, X MHEEE px =2, Y WEIKBE py =
10, IRAIEAILRMRAS T2 SBRAE MUy = 20— X Il MUy = 70-5Y,
AR SRER X MY BE RS D7

3 MRS U =2XY HE&M X B Y WEESHR px = 12 8 py = 6, 7§
KU BB R R,

A A BEBRE Q = SL12K%/3 H RN TR,

CBERE p = 100 — 2Q, B RUSBRAIERE TC = 10Q -+ (1/2)Q% &

T R RN 5 B 2 R (B IRy, BB Bk ¥ER 7

6. BMASIBETZHEPNIE, BRERS p =2, TEES w = 32, 68
PREERER M P, = 100 ~ L2, kb RmnoREss e mE.

7. EWMMEERES U(y) = 12Iny B, 35 Arrow-Pratt 4R S R SR MR 17

(27 In RERBED

&

AEEERHARAP

o D EOEM P




Lo bV ML K% 00 4R AR L P10 A4 AR A

A AEBHES A #8 N e RS

AFFEHT "V,
| memsam
ARMR 2 F
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Suppose either or hoth of two individuals may each contribute the amount ¢ = 3
or else ¢ = 0 Lo providing a public good that both will enjoy. If only one of
them contribules each will receive a benefit v = 2. Tf both contribute, the
benefit to each is w = 4. The choices for each individual are to Contribute or
Not, Contribute. The payoll matrix is given as follows:

o Tenal PLAYER'B
I> net benefit Contribute [ Do Nof, Contribute
. Contribute (1,1) (-1,2)
PLAYER A 155 Not Contribite (2,-1) (0,0)

L. s this game a constant-sum game? Why?
2. Whalt is the dominant strategies for each player?

3. Find the optimal strategics of PLAYER A and PLAYER B with the max-
imin principle.

4. 1s the solution a Nash cquilibrium? Explain.

M9, BtEEHE (B/\EE 53, # 203, BBEEIHBIE)

Pollution control al the local level is an example of a puve public good. Suppose
that iu an economy consisting of two identical persons, each has the following
Marginal Benefil. function for pollution control: M B = 100 - q, where q is the
Eﬂlm.ntil.y of pollution control. Let the Marginal Cost of pollution control be
$20.

1. What is the Social Marginal Benefit, [unction?
2. What is the socially optimal level of control?
3. Calculate the consuniers’ surplus.

4. 1f the real level of control is 70, what is the deadweight loss?




